asym_atll

asym_atrl

asym_atl2

asym_atr2

run7267 000 regressiomr-asym at v

diff_bpmlX

i ]
15000 [~ age
10000 g
: |
[ —{200
5000 .
- 15¢
o - - = EE
B - =
[ 10
-5000 |
- 500
10000 —
— J
-I | L1 1 1 | L1 1 1 | L1 1 1 | | I | | 11 D
150 100 50 0 50
diff_bpmXum
difL
B — — 300
- |
15000 -
— —o5¢
10000 |-
e —{200
5000 — =
i | 15¢
b
- 10(
-5000 [
i 500
10000 |
_I | L1 1 1 | L1 1 1 | L1 11 | L1 11 | L1 1 D
150 100 50 0 50

difi _bpm1Xum

- m N
40000
o000 - —{25(
B |
20000
- - " —{20
10000 | n .
oF L u 15(
- m
10000
- = 100
20000
- -
30000
- 500
40000 — .
50000 T T T e 0
~150 - 100 50 o =0

diff_bpm1Xum

40000 —ogy 40000
20000 —{ 200 20000
ol 15( a

i ] |
20000 100 20000

- B 50r
40000 40000

i m

|||||||||| ||||||||||||| |||||||||||||||||||||||||||

100 _

: m
15000 [~ _1or
10000 — l'
- —{a0c
5000 [
[ m
o
B ]
~5000 [~
B ]
10000
- |
-III|IIII|IIII|IIII|IIII|IIII|IIII|III ﬂ
a0 -20 =10 0 10 20 30
diff_bpmdaYium
d.
- — —{10c
15000 |-
- —{aoc
10000 [~
5000 [ —l60r
ol
B A0
-5000 - m
- N 201
10000 |
- N n
_III|IIII|IIII|IIII|IIII|IIII|IIII|III ﬂ
~ah -20  -10 O 10 20 30
diff bpmda¥ium
'l-
mnnn;— - —{100
3p00o
20000 —80l
10000
oF
10000 |
- =
20000
= |
30000 |- 200
mnnn;— .ll'.
EDDDD:'"l”"l""l""l”"ll"'l""l”' 0

30 -20 -10 O 10 20 30
diff_bpmda¥ium

=10 10

" bpm-

di

P
E

. 35(
- |
15000
- —{30r
5000 [ —|a0¢
ol - - 15(
R 100
~5000 [~
. 500
10000 - o
B | | I | I L1 1
~150 ~100 0
diff bpmdeX/um
d .
B — 300
15000 |-
. —{251
10000 |-
[ = " —{20(
5000 [~ =
- 1 15(
o
- 100
~5000 |- -
B 500
10000 [~
i | | | L1 I 1 L1 | | L1 | | | | | L1 | | | ﬂ
~150 100 = ) 50
diff bpmdeX/um
l
: —anc
40000
30000 —25¢
a |
20000
- - " —{20(
10000 — u u
- n
0E 15€
10000
- m
20000 100
apooo
C 500
40000
50000 I T I N 0
~150 —100 50 0 50
diff_bpmdaX/um
ﬂjfL
I
: [ | — 300
40000
. —{=25¢
B -
20000 - .
i ] n
o 15(
a - n
20000 100
-
40000 0
| | I | I

diff_bpmdeY

: m
15000 [ o
10000 - -
i —{ 800
5000 [
o
-5000 |-
10000 [~
- . .
-IIIII|IIII|IIII|IIII|IIII|IIII|IIII D
-3 =20 <10 0 10 20 30 4D
diff_ bpmdeYium
d.
- —10¢
15000 [
Z —a0t
10000 [
so00 - ™ —500
oF u u
- 400
-5000 |
Z 200
10000 [
_IIIII|IIII|IIII|IIII|IIII|IIII|IIII D
3 -20 10 0 10 20 a0 4D
ditf bpmdeYium
diff_bpmdeY
40000
- —10¢
30000 — -
20000 —ape
10000
oF
10000 |
. 400
20000
30000
- 200
- W
40000
T TN T T T AT Y
0000 0~ 30 10 0 0 20 30 40 U
diff_bpmdaY/um
diff _ bpmdeY
i — —12(
i |
40000 o
20000 —a0¢

20000

40000

200

I:Z-postpan.png—-

10000 —

S000

~5000

10000

1111 | 1111 | 1111 | 1111 | 1111 I 1111 | 1111 | 1111
-200 -150 -100 -50 O 50 100 150 200
diff_bpm12X/um

:
:

10000

S000

~5000

10000

v v by by e ra b s by by
200 =150 -100 =50 0 S50 100 150 200
diff_bpm12Xium

40000

30000

20000

10000

o

10000

20000

30000

40000

sEENENEENENEENIEEEEE NN NEENE R RN EEEN
EDEIU 00 <180 100 =50 1] B0 100 150 200
difi_bom12X/um

diff_bpm12X

40000 HM

20000 —

20000 —

40000 —

-200 =150 -100 -50 1] 50 100 150 200
diff_bpm12X/um

0

—100

0

—35(

—25(

200

15(

100

S0C

0

—35(

—25(

—200

150

101

200

1]



reg_asym_atll

reg_asym_atrl

reg_asym_atl2

reg_asym_atr2

di

P
E

B — 30
15000 - x
i —{25(
10000 —
: — 200
5000 —
[ " - 15(
er "n
- W 100
5000 —
- 50(
10000 —
1 | L1 1 1 | L1 1 1 | L1 1 1 | | I | | 11 D
=150 =100 =50 (1] 50
diff_bpmXum
difL
B I
B —2&(
10000 —
B —20(
000 —
[ u .. —15(
= [ |
R [ |
: 10L
5000
i 501
10000 —
i 1 | L1 1 1 | L1 1 1 | L1 11 | L1 11 | L1 1 D
-180 =100 -850 i B0
difi _bpm1Xum
difL
10000 |- e
i " —{o0
RO00 —
I 8 N
| |
—{15(
D -
B 10L
. N
5000 —
B 500
1{?000_"""l""l""l""l"' o
~18R0 =100 -850 (1] 50
diff_bpm1Xum
difL
I
i E =
10000 — —25(
5000 — 200
- W [ | 18(
(1] _— u .. ..
: " .
B - 100
5000
B |
i 500
10000 — -
| L1 1 1 | L1 1 1 | L1 1 | | I | | 11

run7267 000 resress

oression -reg

diff_bpmdaY

diff_

di

%

I
i —1100 - —30( - —{100
15000 15000 15000
i i [ | i [ |
i i —a5( i
10000 |- —|8oc 10000 |- 10000 |- —{80(
- - —{ 200 -
B000 —{ 600 B000 5000 —
: : Sy . 15( :
- - - m
i i ] |
o 401 o | or
- - = 10( - 0
~5000 |- 0 ~5000 [ ~5000 [
i i 500 |
10000 10000 10000
||||||||||||||IIII||||||||II|IIII|III ﬂ ||||||||II|IIII|IIII|II ﬂ IIIIII|||||||||||||||||||II|IIII|IIII D
-80 =20 =10 0 10 20 30 ~150 ~100 50 0 50 -0 =20 <10 0 10 20 30 40
diff bpmdaYium diff bpmdeXium diff bpmdeYium
dift dift diff_bpmdeY
i —ant i -
- - —25( - m | oo
i aor i |
10000 10000 10000
i i _ —{aor
i —{70C i i
i . —20( - o
5000 [~ eoc 5000 [~ 5000 [~
B N B — 60
i B —{15¢ [
or or = or
N N u [
i i 10€ |
5000 5000 5000 Ha
i [ S0 i 20(
10000 10000 10000
- 100 - - 100
_I||||||||||IIIIIII||||||||II|IIII|III {' _|IIIIIIIII|IIII|IIII|II ﬂ _IIIIIII|IIII|I|||||||||||II|IIII|IIII D
-0 =20 =10 0 10 20 30 ~150 ~100 -50 0 50 a0 =20 <10 0 10 20 30 40
difi_bpmda¥ium difi _bpmdeXsum diff _bpmdeium
_bpmdaY _bpmdeX _bpmdeY
10000 — 200 10000 10000
i —{25( I . = o
- —{ 800 - -
= | = m . —{7or
700 _
5000 | 5000 20¢ 5000 |-
I 60 I J = I 6o
i i ] i m
i i n 15¢ i
o o o
i . m m 100 i
_ - _ - _ - m
5000 5000 5000 301
B B 500 - i
i - = 100 i i - 0 = 100
H}DDD_'"l”"l”"l”"l""""""""" 0 1{FDDD_|'"'I""|""|""|" 0 .1_DDDD_II|IIII|IIII|IIII|IIII|IIII|IIII|IIII o
-0 =20 =10 0 0 20 30 ~150 ~100 -50 0 50 a0 =20 <10 0 10 20 a0 40
diff bpmdaYium diff bpmdaX/um diff bpmdaYium
i [ 0L i E N i [
10000 10000 - 10000
_lgoc i 35( i
i i —{ant
—700 i |
5000 5000 —=0C 5000
—{&00 i I
- —{s0r
- = 15( e
ﬂ ﬂ I . ﬂ __
400 | |
5 i 400
5 5 100 i
~5000 30C -5000 -5000 |-
200 i i 201
i i (]
10000 u 100 10000 10000 [ m -
i i - .
||||||||||||||IIII|I IIIIII|||||||||||||||||||II|IIII|IIII D

-20 —‘H}

a0 0
ayiu

at v

Dm-CW;ﬁostp an.png -

15000
= —{10¢
10000 —
B —{80
Lo0o —
-l
D_
K000 —
B |
10000 —
EENISEENESEENENEENE NN ERENE RN NE NN NN 0
=200 =150 =100 =50 (1] 50 100 150 200
diff_bpm12X/um
difL
| L
L —1 800
10000 —
B — 800
B —70r
E000
-l
= —{ 600
D_
5000 —
10000 —
B 0L
: |
SENISEENISEENE NSNS NN SRR R RN NI RN EE 0
200 -150 100 =50 (1] L) 100 150 200
diff_bpm12X¥/um
difL
10000 —
] —{8oc
BOoo —
II:FJ
=5p00 A
B [ |
1[“:“] _||||||||||||||||||||||||||||||||||||||| 0

00 -150 -100 -50 O 50 100 150 200
diff_bpm12X/um

- - - —10(
10000

- —80(
5000

L

D_

~5000
10000 m

IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII ﬂ

-200 =150 -100 -50 1] 50 100 150 200
diff_bpm12X/um



asym_atll

asym_atrl

asym_atl2

asym_atr2

diff bpm1X

¥2 / ndf 4.622 /10

p0 -15.67 £ 8.35
o1 44.89+1.18 | } )
{,f“
oF ] i ]
C } ’r+t.’/ B
-2000 - i { }
4000
6000
8000 |
1.DDDD:TI_|IIII|||||||||||||||I||||
160 100 50 0 50
diff _bpmlX
i - y2/ndf  4.827/10
8000 [ )
[ T p0 4208 +9.770
6000 [
- { p1 -43.06 + 1.39
4000 |-
B H
2000 [ } ‘
- f
iy \
- *J -
-2000 [~
~4000 |- _
G000 |- _
11 | L1 11 | L1 1 1 | L1 1 1 | L1 1 1 I L1 11
180 -100 50 0 50
%2 / ndf 5 468 /10
p0 -4.038 + 31.121
p1 95.08 £ 4.45 | .
_ i
of } h**r/ p )
10000 - }
o000 -
:| NN NN N |_| L1l
180 —100 50 0 50
%2/ ndf 5 804 /10
pO 4.029 + 34.970 i

p1 247.3+5.0 | /"

10000

20000

30000

I!I-EIDDU+||""||"|""l""l""

oression asvm at vs diff b

run7267 000 resress

diff_bpmdaY

¥2/ndf  22.98/36
p0 -16.11 = 8.42
p1 3514 £ 1.31
BOOD f—
4000
2000 {
B _ +
- Y "
O M-I{H—dnﬁi-]l
F | e }
2000 JI
4000 [~

=30 =20 =10 1] 10 20 a0

diff_bpmdaY

w2 /ndf  43.55/36
pO -3.411+ 9.827
p1 29.13+1.53
5000

i
-

=
T I T T T T I T T LI I T T

~5000

=30 =20 =10 1] 10 20 a0

diff_bpmdaY

%2 / ndf 44 .33/ 36
p0 -45.43 + 26.92 }
pl 6304 + 42 ‘H-‘
10000 . wﬁiﬁ]Jw
0
10000

—_—

[ T
——

TT T[T I T T[T T T T[T AT T [TT T[T
1
—_
—

20000

30000

=30 =20 =10 1] 10 20 a0

dlthpmélaL

%2 / ndf 35.38 / 36

00 -40.19 + 30.74 ﬁ

p1 718.8 + 48 ﬁmH
OO0 | -t
10000 :— {

" } i

20000 |
30000 E— |
40000 E—

bpm

diff_bpmdeX

¥Z / ndf 5.955/10

pO -15./3 £ 8.36

p1 50.28 £ 1.28 ‘JA

~150 =100 -50 1]

2

8000

6000

4000

] ¥2 [ ndf 5.009/10

p0 2.557 £9.808

} p1 —-42.75 £ 1.51

2000

= 2000

=4000

IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII
1
1
—_

~6000 -

=150 =100 -50 1] 50

diff bpmdeX
x*/ndf  6.936/10

p0 -8.49 + 31.11

pi 1413 + 4.8 1

10000 )
20000 )
S T T T T T T T A Y A T B A O |_| L1
=180 =100 =50 1] 50
%2/ ndf ?413;"1']

pO -1.843 £+ 34.833

p 310.1+ 5.4 /

10000

20000

30000

diff_bpmdeY

¥2 / ndf 23.81/35

pO -16.13 £ 8.40
p1 39.15 £ 1.31
5000 -

> ++w - __
fragdaes

=
I | L 1 1 I LI 1 1 I 1 | L
1
[ —

-+

=5000

||||-|||||||||||||||||||||||||||||||||||
30 =20 =10 0 10 20 30 40

diff_bpmdeY

%2/ ndf 30.1/35
p0 -2.955 + 9.817
p1 33.83 £ 1.54
5000 )

{ me
H ﬁf_ﬁh""‘“"‘v'—r E )

30 <20 =10 0 10 20 a0 40

diff_bpmdeY _

%2 / ndf 29.44 / 35

= 5000

p0 -42.83 + 25.82 -
p1 699.6 + 4.1 i
- "*+“L
10000
10000 — i o
o000 |- f{}hﬂf
30000 -
40000 — t

b bvrrr bevrr v v b bear o
=30 20 =10 (1] 10 20 b 40

diff_bpmdeY _

%2 / ndf 32.13/ 35

p0 -37.54 £+ 29.50

.1__
p1 796.6 + 4.6 mﬁ*
10000

1]
10000

20000

L

-
II|IIII|IIII|IIII|IIII|IIII|IIII|IIII|

-30 =20 =10 0 10 20 a0 40

30000

40000

ym-fit postpan.pno

185000 — -
10000 _—
Looo _—
[ f |
[ ﬁ*ﬁn
D -
5000 -

¥2 / ndf 41.51 /34

pO -11.48 £ 8.16

p1 -16.35 £ 0.25

] i w\ |

i }
g

200 <150 -100 -50

°1

15000

10000

2000

~5000

1]

iff bpml12X

50 100 150 200

% [ ndf 32.04 1 34
p0 —0.5108 £ 9.6351
p1 -15.65x0.29

I
F ;
} m\mw p

Wy }

200 <150 -100 -50

diff _

o

50 100 150 200

E , — 5
wnoE * ¥2/ndf  38.27/34
~ '_{-#
30000 |- Hﬁ p0 4.388 + 7.876
20000 | p1 -236.4+0.2
10000
oF
10000 E—
20000 E— _-..‘L
30000 f— Ty
- .
40000 | -
E|||||||||||||||||||||||||||||||||||||_|||
=200 =180 =100 =50 1] 50 100 180 200

diff _

R ¥*/ndf  49.78 /34
40000 -
L e 00 18.22 + 9.56
20000 B =, p1 —2684+0.3
o
E[:IDUEI_— .
i -
40000 — #h&
- !
_I|IIIIIIIII|IIII|IIIIIIIIIlIIIIlIIIIlIIII
200 <150 100 <50 1] B0 100 180D 200




reg_asym_atll

reg_asym_atrl

reg_asym_atl2

reg_asym_atr2

run7267 000 re

%

bpm1X

diff_bpmdaY

%2 / ndf 20.56 / 36

p0 -13.29+ 813

p1 0.8611+ 1.2645

6000 |

4000

2000

2 Wy

-2000 |- }
_WDD_I_III||||||||||||||||||||||||||||||||||

=30 =20 =10 1] 10 20 a0

diff_bpmdaY

Efr'u:ll‘ 43.02 ' 36
po 0.6706 + 9.5288
p1 1.241 £ 1.479
4000
2000 |-
B - b
- r t *
~2000 [~ }
~4000 | {
_EIDDD_III|IIII|IIII|IIII|IIII|IIII|IIII|III

=30 =20 =10 1] 10 20 a0

diff_bpmdaY

%2 [ ndf 29.03/36
p0 0.524 + 7.048
p1 0.7345 + 1.0960 {}
SN [ TrE——— h}
| HHQ L |
=1000 —
- 2000 E—
~3000 f—
-4000 E—
iuuu Loy tvva by Loy benna by Lo

=30 =20 =10 1] 10 20 a0

E

3000

2000

1000

=1000

=2000

=3000

bpmdeX

7= /[ ndf

6.826 /10
po -14.02 £ 8.14

p1 -0.2255 £ 1.2418

_|||||||||||||||||||_|||||
=150 =100 -50 0 30

diff_bpmdeX

w2/ ndf 5.258 /10
po 3.69 + 9.55
pi 0.2228 + 1.4676
o } htb-—'*q}
2000 -
4000
:lIIII|IIII|IIII|III_I|III
-150 =100 =50 1] et

diff

6000

2000

4000

3000

2000

1000

0

=1000

= 2000

-3000

_bpmdeX

%2 / ndf 15.46 /10
pO -1.268 + 7.056

_- p1 -1.172 £ 1.083

| pw»qﬁ |

_||||||||||||||||||||||||
- 180 =100 -850 1] 50

diff_bpmdaY

%2 [ ndf

40.89 /36

°-.

iff _ bpmdeX

72/ ndf

464 /10

diff_bpmdeY

w2 | ndf 21.82/35
po -13.65 + 8.12

p1 0.5965 + 1.2706

]l+ +
A —
_ __|||||||||||||||||||||||||||||||||||||||

30 <20 =10 0 10 20

diff_bpmdeY

¥ [ ndf 32.6/35

an 40

po 0.7696 + 9.5267

p1 1.406 +1.492

mnnf— _

Ennnf— { +__
nf— { { U ity }

-zunnf— m te

-mnnf— _ }

_ﬁgmi.'.l...m...|....|....|....|....|....|

30 <20 =10 0 10 20

diff_bpmdeY

%2 [ ndf 38.06 / 35

a4

po —0.452 + 7.036 +

pi 0.9685 + 1.0996

”:_ Fﬁ WWM+M{H =
- [

30 =20 =10 0 10 20

diff_bpmdeY

a4

diff_bpm12X

¥2 | ndf 42.88 [ 34
p0 -12 £ 81
p1 0.1879 + 0.2483
6000 |-
xmnnf— |
Eﬂﬂﬂf— *

u— JTW% +h-—?w—-—#ﬁw#&J
-Eﬂﬂﬂf— * |
~4000 [ 1y 3y 1y bbb bbb

-2

°1

= —

0 =150 -100 -50 1] 50 100 150 200

iff_bpm12X

B %2 | ndf 31.22 /34
10000 —
i pO0 1.25+ 9.52
8000 |-
- p1  —0.04793 + 0.29056
BOO0 —
4000 [ |;
2000 |- i * *
DZ_ _J[ JHHJF M#Hﬁ 1
~2000 |- }
T|||||I||||||||||||||||||||||||||||||||||
200 =150 100 =50 (1] RO 100 150 200

diff_bpm12X

vl
p0

pi

ndf 26.86 / 34

-2.128 = 7.021

=1000

=2000

=3000

~4000

=5000

0.1819 + 0.2160 mej

m !

|||||||||||||||||||||||||||||||||||||_|||
200 <10 100 <50 1] 50 100 160 200

diff_bpm12X

%2 [ ndf

36.84 / 35

8000 |- +2 { ndf 5.06 /10
I p0 ~14.43 + 8.11
G000 —
i o1 —0.2874 + 1.1454
4000 — _
2000 B i J
! + i
o | } f}r--—-—f"ﬂ'
~2000 _ )
_I | | L1 1 1 | | I I | | L1 1 1 | [ | I_I I | I |
=150 =100 =50 (1] 50
diff_bpmlX
G000 —
i %2 { ndf 5.398 / 10
4000 |- 00 5.146 + 9.522
I pi —0.1737 £ 1.3510
2000 _
| - + }
- 1
o { [ty
2000
4000 _—
:I | | L1 11 | L1 1 1 | L1 1 1 | [ | I_I I L1 11
=150 =100 =50 (1] 50
diff_bpmlX
BOO0
. ¥ { ndf 7.316 /10
5000
- p0 —1.654 + 7.032
4000
2000 - - p1 —0.8619 + 0.9958
2000 — ]
1000 — } )
-1000
~2000 —
3000 F - o
O v v o b o g g b g b o g b
=150 =100 =50 (1] 50
diff _"bpmlX
4000 +2 [ ndf 8.686 /10
Z p0 6.702 + 8.418
2000
- | p1 —0.5939 + 1.1877
o _ ”J*Mﬁ _
2000 — .
4000
-g000 — -
1 1 | L1 1 1 | 11 I L1 1 1 | L1 11 I | I |
~150 =100 =

2ressmn ‘reg

po

p1

8.915 £ 8.416 {\

+

=2000

=4000

6000

~8000

[ I T 1T 1 I LI I T 1T 1 I LI

0.3464 + 1.3063 "'"'*"'"**m+’f+ﬁ Ih }

1l

6000

4000

2000

=2000

=4000

~6000

at 'vs diff ' bpm

po 7.235 £ 8.450

p1 —0.4601x 1.2966

1:

_fit postpan.

p1 05178 + 1.31489 1

po 8588 + 8.411 1-

= 2000

=4000

= 6000

= 8000

qpopp e b Lo by b L Lo lan o |
30 =20 =10 1] 10 20 a0 40

| 0) 0 b4

%2 | ndf 39.91/34
p0 7.188 + 8.403 )
p1 0.4264 + 0.2566 -
£ |
—Eﬂﬂﬂf— {}
-WDDf—
-IE[:IDDE—
-3”'3"3-T|....|....|....|....|....|....|....|....

200 -150 -100 -50 1] 50 100 150 200



asym_atll

asym_atrl

asym_atl2

asym_atr2

run7267 000 regressionm-asym at vs diff bpm-Scat ‘postpan.png = -

diff_ bpm1X

10000

5000

=5000

10000

diff_bpmXum

15000

10000

5000

=5000

10000

-150 =100 =50 0 50

difi _bpm1Xum
diff

40000
30000
20000

10000

10000

20000

30000

40000

50000 NN T T N T TN N TN O N A A R
diff_bpm1Xum

40000 — 40000 f— 40000 f— ' 40000 _
20000 — 20000 f— 20000 f— 20000 —
20000 — 20000 f— ' 20000 f— 20000 —
40000 — ' - 40000 f— 40000 f— ' '_ ' 40000 —
I i _||||||| _|||||||||||||||||||||||||||||||||||||

15000

10000

5000

5000

10000

a0 -20 -10 O 10 20 30
diff_bpmda¥ium

15000

10000

5000

~5000

10000

30 =20 <10 1] 10 20 a0
diff_bpmda/um

40000
30000
20000

10000

10000

20000

30000

=
IIIIIIIIII|IIIIIIIIIIIIII|IIII|IIII|IIII|IIII

40000

50000 por vl vror berrr brvra bvver P v e

30 -20 -10 O 10 20 30
diff_bpmda¥ium

di

15000

P
E

10000

5000

~5000

10000

~
Ln
=
I

—
=
=
1

z
=
z

diff _bpmdeX/um

diff_bpm

10000

5000

~5000

10000

~
Ln
=
I

—
=
=
)

z
=
z

diff_bpmdaX/um

ijL
40000 '
30000
20000

10000

diff_bpmdeX/um

15000

10000

5000

= 5000

10000

1 1 I 1111 | 1111 | 1 111 | 1111 | 1 111 | 1111 | 1 111
30 -20 10 O 10 20 30 40
diff_bomdeY/um

15000

10000

5000

= 5000

10000

cad v by e s by by s by g i
30 =20 10 0 10 20 30 40
diff_bpmdea¥ium

diff_bpm4eY

40000

30000

20000

10000

o

10000

20000

30000

40000

Tl vv el vvvr brrr b v v b oo
50000 ~30 20 =10 1] 10 20 an 40
difi_bpmdaYium

-30 =20 =10 1] 10 20 30 40

15000 =

10000 —

S000

~5000

10000

1111 | 1111 | 1111 | 1111 | 1111 I 1111 | 1111 | 1111
-200 -150 -100 -50 O 50 100 150 200
diff_bpm12X/um

15000

10000

S000

~5000

10000

v v by by e ra b s by by
200 =150 -100 =50 0 S50 100 150 200
diff_bpm12Xium

40000

30000

20000

10000

o

10000

20000

30000

40000

sEENENEENENEENIEEEEE NN NEENE R RN EEEN
Eﬂﬂq 00 <180 100 =50 1] B0 100 150 200
difi_bom12X/um

40000

20000

20000

40000 —

e b b b v b b leaag
200 -150 -100 -50 1] 50 100 150 200
diff_bpm12X/um




reg_asym_atll

reg_asym_atrl

reg_asym_atl2

reg_asym_atr2

RO PR . gty
run7267 000 resression-reg at vs d

185000 — 15000 —
10000 — 10000 —
L0000 — LoD —
o o
~5000 5000 —
10000 o 10000 ,
P I T N T T T T N T U M M IO pov v v v bvv o bvrvn b ra b
=150 =100 =50 (1] 50 =30 =20 =10 (1] 10 20 an
diff_bpmXum diff_bpmdaYium
] L 1 I]i
B I |
10000 — 10000 —
000 — E000
o o
5000 — 5000 —
10000 — 10000 —
T T NN N e o bbb b Lo b aa b
-180 =100 -850 i B0 =30 20 =10 (1] 10 20 a0
difi _bpm1Xum difi_bpmda¥ium
L] L ] I]i
I
10000 — 10000 —
S0O00 Eo00 —
o o
~5000 5000 —
1{?000_"""l""l""l""l"' H}DDD_'"l”"l”"l”"l"""""""""
~18R0 =100 -850 (1] 50 =30 20 =10 1] 10 20 an
diff_bpm1Xum diff_bpmdaYium
[ ] L 1 lr‘i
| I |
10000 — 10000 —
5000 5000
o o
5000 ~R000 —
10000 — 10000 —
ol b b b

m-scat” post

15000 —

10000

2000 —

5000 —

diff _bpmdeX/um

iff_bpmdeX

10000 —

5000

=5000 —

10000 —

diff_bpmdaX/um

10000 —

5000 —

5000 —

diff_bpmdeX/um

10000 —

2000 —

5000 —

10000 —

all.png

15000 —

10000

5000 —

=5000 —

10000

I_I I 1111 | 1111 | 1 111 | 1111 | 1 111 | 1111 | 1 111
30 -20 10 O 10 20 30 40
diff_bomdeY/um

10000 —

5000

=5000 .

10000 —

Lol b b b b s bar g b
30 =20 10 0 10 20 30 40
diff_bpmdea¥ium

10000 —

5000 —

=5000 —

plovvabvrrr b bvrre bvvva beraa b
~30 20 =10 1] 10 20 an 40
difi_bpmdaYium

10000

10000 —

5000 —

5000 —

10000 —

b b b b b s b aa b
30 <20 10 1] 10 20 a0 40
diff_bpmdey/um

15000

10000

2000

~5000

10000

200 -150 -100 <50 1] 50 100 150 200

10000

S000

=5000

10000

diff_bpm12X/um

200 <150 100 -50 1] 50 100 150 200

10000

5000

~5000

1000

diff_bpm1 2X/um

=200 <150 100 -50 1] 50 100 150 200

10000

2000

~5000

10000

diff_bpm12X/um

-200 =150 -100 -50 1] 50 100 150 200

diff_bpm12X/um



